3.6 How Do We Predict Formulas and Name lonic Compounds.
B Transition Metals

What is the correct chemical formula for the ionic compound Iron oxide?

a) FeO
teeee o b) FeO,
c) Fe;03 o

Jhe nawme givem  drom oxide s ous as you have mo Ay Yo delernime
the c\ua%ea‘cm W ue\'oDQ- a Jamns&ma welod - 3o anm the aavme

fets Jook of We 3 fornube guen, omd see § e com do Ralfer ?

RO: 7 +(-2Y=0; . ?2=3% Qgon (W) oxide
FeOa: ?+2(2)=z0; .. 7=l Snen (W) oxide
Fea03: 2?7 +3(2)=0; .. ?=2473 Agen (W) oxide ... wusY

Ne use Romomn Nytendds 1o jmdicate the c\mage on Jrasmsitien Metdls.




3.6 How Do We Predict Formulas and Name lonic Compounds.

B Transition Metals

What is the correct name for the ionic
compound Cu(NO3),?

NO; = witrale

Cu(NO3), : ?+a(—;\ =0 i
¢ = X

Copper () witrale

What is the correct name for the ionic
compound CuS0O,?
«+ a) Copper(l) sulfate
.+ b) Copper(l) sulfite
c) Copper(ll) sulfate v
d) Copper(ll) sulfite

S0y = suffake

CUSO.‘t ? "'('2‘ =0
T =2

Copper (W) sulfate




3.6 How Do We Predict Formulas and Name lonic Compounds.

C Polyatomics

Give the correct chemical formula for
the ionic compound, sodium
phosphate.

Give the correct chemical formula for
the ionic compound, aluminum
carbonate.

Sodwt : gaoup WA +\
Phosphate: “Po2”

N03 Poq.

Qlunpoun - 3A +3
Corbonate : %‘gi g : -2
oyt COxY
09 a (CD3\3

Noe We use o} poremtresic when Yese 1s

tere than one polyakomic wn the Sornu

0¥y (O3 net Va2 Ci0q




4.3

What Is a Mole and How Do We Use It to Calculate Mass Relationships?

What is the mass in grams of 1 mole of Li.

6Li: 6.015 amu 7.42%
Li: 7.016 amu 92.58%
N =6.0221x1022 mol! 1 amu = 1.6606x1024g

Adkom © O0.02(6.019) + 0.9258(70\6) = (6.3u17 asmu

6941 omu | 1.6806¥103' = 1.1527x10"%%
| \  omu

tdomof Li = 11sx1n0"%y
Tod of i LIsAIY 16 (6.0201 10 k")

= @Q\{.\T Q. NOYD—




4.3

What Is a Mole and How Do We Use It to Calculate Mass Relationships.

Molar Mass ... (Formula Weight)

Al
13
26.98

Si
14
28.09

P
15
30.97

S
16
32.07

L, 00: 2698 g meh"

S: 32071 3.mo?“

CyHio : 4(c) +
4(12.00) + I010)) = S8B.14 a.mt"

TReminder: 58. 14 3_“\0?"

10(W)

MorLrR Mass

58,
tnd




